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Protecting 4.91 hectares of tropical forest
can neutralize that amount of carbon dioxide.

Protecting 4.66 hectares of tropical forest
can neutralize that amount of carbon dioxide.

DIFFERENCES:

Between current day and future me, there is a noticeable rise in carbon impact.

Current me has the majority of my carbon footprint from housing and food as can be seen in the first pie chart
being dominated by green. Future me has less of this as the housing is shared amongst four people instead of
just two.

Right now | do not drive and walk everywhere on campus, rarely metroing or flying. This leads to a very low
carbon footprint from transportation compared to future me who must get to work and fly more often, leading to
a much higher transportation footprint.

| believe the higher footprint my adult self has is due to large increase to transportation use without owning a
electric vehicle



